AL

k=l

T [EX| H19

ES
10

40

oll

R

©
o
«Q
A
? K
| = . il
© To)
S|l w o °
B g
0 o
ol Q K : ol
% 8 B |28
] < S W o
uo - wor \ mo o& )
K ® ’ K © 2
ol © .m.n < ol n_u = —
X & 3 © R oF 5]
o w (!
HI~ © il 0
_ N < 5 -
K | ol — N
— | i O — —
oF RIKN Q= <[~
- 11
o = ofl
] T Q|
8 o S
© I+ & — |
_ - © wj0 ol |
N - N =l MY RI
oH E o H 3 K
- - (a\] —t
- H E|_ o | I
. ol -3 0 olT
m O eol| @ B[’
=0 oy Lo = = ol o | 5
b 7l o S
=3 H e ~NU = .m.w u._._ o
K K- M e = < = w|| % ol
T K- & <| | H S I
— il H i E o K © 30 H i
=, A R s g A g
@A_A.__._._ mgonmnom_wA_@\xn_n g | <
20 IR K &1 || B0 B I <0 MK ' | &
—~ PERE)
5l O M ol | R
i Ll R0 R0 | R0
= = KIr K| Kl

r

il

=0
bl

K

CHH Al Bkl

i &

<]

off ch2h AH

F

S
S

M39z=H 2

=|
2|

A8

=5
=i

ol

al z
=

St
S

Fele | X28=A|2

09 &

20144

od

il

715t

W o
- o

DA ALE

s ®MAEN A

o4 5 A

X ®M17=22l6M Al M

o)
=

210mm X 297mm[ 24 A+ X| 809/ m* (&Y



=Rk =3 X3 SFHZI[IIFE: 0.01IH(f)/ccl dEAH
20144 098 04L(S)
#1 SXFAH A 2E8HH 0.002H(f)/ccO] et - (O1=0I8h
#2 S XA H & AE5HH 0.0029H(f)/ccOl Bt - (J1E0l2H
#3 SXFAHA 2E8HH 0.002H(f)/ccO] ot - (J1=0I12H
#4 SXFAH A 2E8HH 0.002H(f)/ccO] et - (O1=0I8h
#5 MM 2 Z3HH 0.0059H(f)/ccOl Bt - (J1E0l2H
#6 QI (A Q) 2E8HH 0.005H(f)/ccO| ot - (J1=0I12H
#7 Ho|l2etE3 2 Z5HH 0.005IH(f)/ccOl 2t - (O1=018h
#8 S2IIE 1 AE3HH 0.0059H(f)/ccOl B - (J1E0l2H
#9 setiE T2 2E8HH 0.005H(f)/ccO] ot - (J1=0I1gH
#10 SeIIHE 73 2E8HH 0.005H(f)/ccO] et - (O1=0I8H
#11 S2oIE+4 2 E5HH 0.0059H(f)/ccOl Bt - (JI=0l12
#12 SIIHER5 2E8HH 0.005H(f)/ccO] ot - (J1=0I2H
#13 SeIIHIE 76 2E8HH 0.005H(f)/ccO] et - (O1=0I8H
#14 S0z +7 AZ5HH 0.005IH(f)/ccOl Bt - (JI=0/2
#15 SeIIHE78 2E8HH 0.005H(f)/ccO| ot - (J1=0I12H
#16 ZA2 - EXNZAA 0JH/100AI OF -
#17 ZAB - SLIHER 0JH/100AI OF -
20144 098 052(2)
#1 SXBAHA 2E8HH 0.002H(f)/ccO| ot - (JI1=0I2H
#2 SXFAH A 2E8HH 0.002H(f)/ccO] et - (O1=0I8H
#3 SXFAHA ZE8HH 0.0029H(f)/ccO] ot - (JI1=0I2H
#4 SXFA A 2E8HH 0.002H(f)/ccO] et - (O1=0I8H
#5 QM AH P 2E8HH 0.005H(f)/ccO] ot - (JI1=0I2H
#6 AR FH(AQ) 2 Z5HH 0.005IH(f)/ccOl 2t - (O1=018h
#7 Hol2EER 2 E8HH 0.005H(f)/ccO] ot - (JI=0I2H
#8 SIS 2E8HH 0.005H(f)/ccD] et - (O1=0I8H
#9 setiE T2 =8 0.005H(f)/ccO] ot - (J1=0Ig2H
#10 SeIIHE 73 2E8HH 0.005H(f)/ccO] et - (O1=0I8h
#11 S E 24 2 =8 0.005H(f)/ccO] ot - (J1=0I1g2H
#12 SeIIE 75 2E8HH 0.005H(f)/ccO] et - (O1=0I8H
#13 SN2 - EXBIAN 0JH/100AI OF
#14 ZAB - SIS 0JH/100AI OF

¥ AES8H(LOD) : (120,000/(VXN))x0.005 N : A& AlOF £, V: & TES2H(L)

(0.002JK(f)/cc ~ 0.005H(f)/cc)

* YIS0 Z2E 748 & 874 HAe 20| 5mold, 2EF 0.25um~3unZ 0|t 22 bl
312 JIE2Z Aol ZEHBS SFRe HEE s giS.




d2]. =8 NE |AXN(E=AE)
I xS €25 HHMNMSA

=x%t | 20141 098 04 - #1

d 1 =xzxna [::]

PR
NE#S SEEBY
#1 S ER R
#2 N ER
#3 S ER
#4 e
#5 A YT

#6 SERESEIRE)




H H2]. 58 & A=A E)
g UGS g4z SAHWMNIMSAL
SJHAX 20144E 098 04¢ =R #1
adl UE R
45m 3 3m 53m Sm | & 9m dm
‘ NELES =79
[m [#_11] @ [@ #7 HOISHETR
pi[[= 2 #8 SIE?1
2 #9 selhET2
SrEorE = =
| ety P r WAt A T === #10 seolE=3
' E9.35m w_;,lg-,gg- a8.69 Bh7m L#_7_] 7 #11 saItE74
#12 SIIHHER5
#13 SYIIHET6
Lrb-
& 5z #14 SolwETR7
™ dom |
e #15 SoltiE+18
i
L]
[E2E 15 HHS




H2]. =3 XA AXN(ZAE)
g UFES gats JHWMIHZSAF

=™UT} | 20141 098 05 i v

ol SXFHA D

NI
AzHs 259 %
#1 S
#2 =X
#3 e
#4 e
#5 S Ml YT

#6 MANZTH(AQ)




g =T €25 HTHMNSA

o AEsS S50
==l T} 201449 098 05¢ =T
ad YR T
Nags EF-Lbs
#7 Ho|SEER
grn | 2Tm m #8 SIIHE
‘ #9 SelET2
[#q) (#9) #10 SolwETs
g #11 S|t ET4
i #12 SAIIEDS
& i e
657+ C =54 JAEHT
A Jam




20148 &

M® OHRI-RIH AlRIR)
MEHA SH FR M

[ EF5 225 AHMHBAH

@(ﬁ)ﬂﬂ HHAFHET

INDUSTRIAL HEALTH & ENVIRONMENT CONSULTING



